
American Dish Service

900 Blake Street  |  Edwardsville, Kansas 66111
Phone: 913.422.3700  |  Toll-Free: 800.922.2178  |  Fax: 913.422.6630
orders@americandish.com  |  americandish.com

American Dish 
Manufacturers of Ware Washing Equipment

Service

Rev 1.00 03/15/23

Model ASQ II
Carousel Glasswasher, Low-Temp

PARTS KIT 088-1014



American Dish Service  |  913.422.3700  |  Toll-Free: 800.922.2178  |  Fax: 913.422.6630  |  orders@americandish.com2

PART NO. PG QTY DESCRIPTION

064-0033 3 1 Chemical Pump, (Internal - 25RPM)

083-6451 3 3 Tube Stiffener, Threaded, 1-gal bottle

089-6705 3 6 Tube, Squeeze, Norprene FDA (Liner)

091-4135 3 3 Fitting, Chemical Discharge

091-4158 3 1 Nut, Threaded Blue, Tube Stiffener

091-4159 3 1 Nut, Threaded Green, Tube Stiffener

091-4157 3 1 Nut, Threaded Red, Tube Stiffener

093-1061 3 20' Tubing, Chemical Line, 1/4" Polymer Blue

093-1062 3 20' Tubing, Chemical Line, 1/4" Polymer Green

093-1063 3 20' Tubing, Chemical Line, 1/4" Polymer Red

098-1606 3 6 Clamp, Squeeze Tube to Chemical Line

099-1028 3 2 Bayonet, Spray Arm Pin (to Spray Base)

081-6217 4 1 Spray Arm Bearing w/O-Ring

081-6219 4 1 Spray Arm w/End Plugs, Cross-arm

084-6211 4 2 Spray Arm End Plugs, SS

084-6801 4 1 Spacer, Center Post ASQ II (White Delrin)

085-6235 4 1 Screen, Primary, w/handle

089-6313 4 1 Gasket, O-Ring, Wash Pump Cover,  
4" dia

089-6311 4 1 Gasket, O-Ring, Drain Pump Cover,  
2.87" dia

089-6314 4 1 Gasket, Spray base & Heater, Teflon, 
ASQ II

091-1006 4 1 Motor, Cam Timer, 72-sec (ASQ II)

091-1025 4 1 Motor, Drain Pump, ET/ASQ II (1/6 HP)

091-1031 4 1 Motor, Wash Pump, 1/3 HP

082-6317 4 1 Impeller, Drain Pump

082-6320 5 1 Impeller, Wash Pump, ASQ II

092-2005 5 1 Seal, Drain Pump, ET Pump shaft

092-2006 5 1 Seal, Wash Pump Shaft, ASQ II

PART NO. PG QTY DESCRIPTION

091-3083 5 1 Contactor, Motor, 40a

098-2417 5 1 Washer, 1/4" SS Split lock 
(Pump Drain Motor Shaft)

098-2505 5 2 Nut, Cap, 5/16-18, w/Nylon Insert

091-3081 5 1 Switch, Float, ASQ II & ET

091-3009 5 2 Switch, Prime Chem, Momentary

091-3022 5 2 Switch, Cam Timer

091-3024 5 1 Switch, Drain, ASQ II (Toggle 6-term)

091-3077 5 1 Switch Assembly, Power (Black) ASQ II

091-3041 5 1 Switch Assembly, Start (Red)

091-3036 6 1 Switch, Contact Block, (Start Switch)

091-3037 6 1 Lamp, Power & Start Switch, ASQ II (LED)

091-3043 6 1 Lens Button, (Start Switch Red) ASQ II

291-7101 6 1 Light, Indicator, 110Volt, ET/ASQ II  
(Run Light)

091-3035 6 1 Transformer, (Start Switch) ASQ II

091-3088 6 2 Relay Retainer, Wire

291-3005 6 1 Relay, Cube, DPDT 110v, (Finder 1.62" Tall)

091-3030 6 2 Relay, Cube, DPDT, ASQ II (2.12" Tall)

098-3009 6 1 Spring, Carousel Detent (Drum)

098-9009 6 2 Clamp, Hose, 7/8" Screw Type

099-1001 6 1 Gauge, Temperature, No Capillary

092-9002 6 1 Screen, Line Strainer, 1/2" Y type

091-3093 7 1 Timer, 7-cam, 72-sec, ASQ II

091-9009 7 1 Heater, Submersible, (120v, 300W)

088-1092 7 1 Kit, Seal Press (ASQ II Rinse/Wash Pump)

092-5016 7 1 Kit, Water Solenoid Valve,  
J/E 1/2" G series

092-5047 7 1 Kit, Vacuum Breaker Repair, 1/2" Watts

099-5102 7 3 Kit, Chlorine Test Paper  
(100 strips per vial)

MODEL ASQ II 
QUICK REFERENCE LIST



3©ADS Model ASQ II Parts Kit  |  americandish.com

MODEL ASQ II
Parts Kit 088-1014

064-0033

091-4158

093-1062

083-6451

091-4159

093-1063

089-6705

091-4157

098-1606 

091-4135

093-1061

099-1028

Chem Pump,  
(Internal - 25RPM)

Nut, Threaded Blue, 
Tube Stiffener

Tubing, Chem Line,  
1/4" Poly Green

Tube Stiffener, 
Threaded (1-gal)

Nut, Threaded Green, 
Tube Stiffener

Tubing, Chem Line,  
1/4" Poly Red 

Tube, Squeeze, 
Norprene FDA (Liner)

Nut, Threaded Red, 
Tube Stiffener

Clamp, Tube (Squeeze 
to Chem Line)

Fitting, Chem 
Discharge

Tubing, Chem Line,  
1/4" Poly Blue

Bayonet, Spray Arm  
Pin (to Spray Base)

1 ea

1 ea

1 ea

1 ea

1 ea

3 ea

1 ea

1 ea

6 ea

1 ea

20'

3 ea



American Dish Service  |  913.422.3700  |  Toll-Free: 800.922.2178  |  Fax: 913.422.6630  |  orders@americandish.com4

081-6217

085-6235  

091-1006

081-6219    

089-6313

091-1025

084-6211 

089-6311

091-1031

084-6801

089-6314

082-6317

Spray Arm Bearing, 
w/O-Ring

Screen, Primary,  
w/Handle

Motor, Cam Timer,  
72-sec (ASQ II)

Spray Arm, w/End 
Plugs, Cross-arm

Gasket, O-Ring, Wash 
Pump Cover, 4" Dia

Motor, Drain Pump, ET/
ASQ II (1/6 HP)

Spray Arm End  
Plugs, SSA

Gasket, O-Ring,  
Drain Pump Cover,  

2.87" Dia

Motor, Wash Pump,  
(1/3 HP) 

Spacer, Center Post 
ASQ II (White Delrin)

Gasket, Spray Base/
Heater, Teflon, ASQ II

Impeller, Drain  
Pump

MODEL ASQ II
Carousel Glasswasher, Low-Temp

1 ea

1 ea

1 ea

1 ea

1 ea

2 ea

1 ea

1 ea

2 ea

1 ea

1 ea

1 ea



5©ADS Model ASQ II Parts Kit  |  americandish.com

MODEL ASQ II
Parts Kit 088-1014

082-6320

098-2417

091-3022

092-2005

098-2505

091-3024

092-2006

091-3081

091-3077

091-3083

091-3009

091-3041

Impeller, Wash  
Pump, ASQ II

Washer, 1/4" SS Split 
Lock (Pump Drain  

Motor Shaft)

Switch, Cam Timer

Seal, Drain Pump ET 
Pump Shaft

Nut, Cap 5/16-18,  
W/Nylon Insert

Switch, Drain, ASQ II 
(Toggle, 6-term) 

Seal, Wash Pump  
Shaft, ASQ II

Switch, Float,  
ASQ II & ET

Switch Assembly, 
Power (Black) ASQ II 

Contactor, Motor,  
40a

Switch, Prime 
Chemical,  

Momentary

Switch Assembly,  
Start (Red)

2 ea

1 ea

1 ea

1 ea

2 ea

1 ea

1 ea

1 ea

1 ea

1 ea

2 ea

1 ea



American Dish Service  |  913.422.3700  |  Toll-Free: 800.922.2178  |  Fax: 913.422.6630  |  orders@americandish.com6

091-3036 091-3043

291-3005

099-1001

091-3037 291-7101

091-3030

092-9002 

091-3035 

098-3009

091-3088

098-9009

Switch, Contact Block, 
(Start Switch) 

Lens Button, 
(Start Switch Red)  

ASQ II

Relay, Cube, DPDT 110v 
(Finder 1.62" Tall)

Gauge, Temperature,  
No Capillary

 Lamp, Power & Start, 
ASQ II (LED) 

Light, Indicator 110Volt, 
ET/ASQ II (Run Light)

Relay, Cube, DPDT, ASQ 
II (2.12" Tall)

Screen, Line Strainer, 
1/2" Y Type 

Transformer, 
(Start Switch) 

ASQ II

Spring, Carousel  
Detent (Drum)

Relay Retainer, Wire

Camp, Hose,  
7/8" Screw Type

MODEL ASQ II
Carousel Glasswasher, Low-Temp

1 ea

1 ea

1 ea

2 ea

2 ea

2 ea

1 ea

1 ea

1 ea

1 ea

2 ea

1 ea



7©ADS Model ASQ II Parts Kit  |  americandish.com

MODEL ASQ II
Parts Kit 088-1014

091-3093 091-9009
Timer, 7-Cam, 

72-Second, ASQ II 
Heater, Submersible, 

(120v, 300W)

088-1092 092-5016

092-5047 099-5102

Kit, Seal Press (ASQ II 
Rinse/Wash Pump)  

Kit, Water Solenoid 
Valve, J/E 1/2" G Series 

Kit, Vacuum Breaker 
Repair, 1/2" Watts)

Kit, Chlorine Test  
Paper (100 Per Vial)

1 ea

1 ea

3 ea

2 ea 1 ea 1 ea



American Dish Service  |  913.422.3700  |  Toll-Free: 800.922.2178  |  Fax: 913.422.6630  |  orders@americandish.com

American Dish 
Manufacturers of Ware Washing Equipment

Service


